Mbuwﬂflagcbﬁ" ¢

2) zil  2ei9eNn: f:\/@w =F¢,

H ‘Pao:‘% Fw(’(x‘q) ?, +(/l-1)§0w -%*Ds —/'%0) -

:“{‘ A'W(JCL—f *yl"’ 'xl“duz)%a -
:-—fi}w (~z)4%w=}?w¢oa
) 49, -E9,=Fwh. = F-tuw
¢) 19 F=Thw
),,b--/.'=f?w
d) E,,:%ﬁw={+t\//?@ it /<=¢m~;4,4/
o waty A9k

> 39 F=2hw

) p-m('t) 16wk = 1935 07"
AF =2 hw - Lhw- fow- ﬁf /T\/m"’ 7,72 1707 T



Schrodinger - Geichung -

[ L L ke Ty .ry

2m 4x°

[osung Ee =172,
T homogen el 244
[-.!C,d—’i-iﬂl.f/:x]y:[:'(/’
LM R

Eod Lk %(fx)]‘{ -£Y

im

-l"l 0(1 R £ FZ_/:z' = £
[———-7—14%(14»2[(11? 7)]Y EY

1

f‘;h;:“ T -i(x +2——1+-f—)]?’ (F +.~))”

[k (e £)TY e )y

m a[x
B} £
Z‘ i k
dx'=dz’



RN AR (G ST )aax_;x (452 3;)):0
06,3 = 4k -2g)e 2 (135 - 2 5) =0
[f,l’zJ;_?(zgz-%x):—éﬁ

tl JZ h'L C/l ii:

) [/] tk"' (I)] CI —2_;;2? T o ¢ 7 o

Jo, I W/n{/s ad  kin. Lnergie  sind 9¢ elch ze/t1g Messhar



